Day 2 Quiz

1. Although Mao Zedong won the hearts of the Chinese peasants, he failed to
win American support because he . ..

was corrupt.

cooperated with the Japanese during WWIL.

was communist.

was a nationalist.
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2. A constitutional issue that was frequently raised about United States
involvement in the Korean conflict and the Vietham conflict was the
a. right to regulate commerce with foreign nations.
b. use of deficit spending to finance wars.
c. lack of formal declaration of war by Congress.
d. Supreme Court’s role in foreign policy decision-making.

“I knew that if the slightest mistake was made, we would find ourselves in a third world
war, and as | told you time and again, | had no intention in any way of allowing that to
happen ... "

3. This quote above is Truman’s response to:
a. Firing MacArthur from his duties in Korea.
b. Sending a congratulatory letter to the Soviets for the launch of Sputnik.
c. The agreement to divide Korea at the 38™ parallel.
d. His decision to drop the second bomb on Nagasaki.

4. Which one of these was NOT considered a cause of the Korean War?

The Domino Theory
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US evacuation of troops in 1948

. MacArthur wanted to bolster his presidential campaign by ending
communism in Korea.
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5. This group suffered the highest number of casualties during the Korean War:
a. Americans
b. Russians
c. Chinese
d. Koreans



